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Seating Arrangement for NABARD Office Attendant Mains 2020 
 

Directions (1-5): Study the following information carefully and answer the question given below: 

 

M, N, O, P, Q, R, J and K are sitting in a straight line but not necessarily in the same order. Some of them are 

facing south while some are facing north. Only two people sit to the right of M. N sits third to the left of M. 

Only one person sits between N and R. R sits to the immediate right of Q. Only one person sits between Q 

and K. Both the immediate neighbours of N face the same direction. M faces north. O sits third to the left of 

R. N faces the opposite direction of M. J does not sit at any of the extremes ends of the line. P faces the same 

direction as Q. Both J and O face the opposite direction of K. 

 

Q1. How many persons in the given arrangement are facing North? 

(a) More than four  

(b) Four  

(c) One 

(d) Three  

(e) Two 

 

Q2. Four of the following five are alike in a certain way, and so form a group. Which of the following 

does not belong to the group? 

(a) Q, R 

(b) K, J 

(c) N, M 

(d) N, J  

(e) P, O 

 

Q3. What is the position of R with respect to K?  

(a) Second to the left  

(b) Third to the right 

(c) Third to the left  

(d) Fifth to the right 

(e) Second to the right 

 

Q4. Who amongst the following sits exactly between K and Q? 

(a) N  

(b) J  

(c) R 

(d) Q  

(e) O 
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Q5. Who is sitting 2nd to the right of N? 

(a) K  

(b) P  

(c) R 

(d) Q  

(e) None of these. 

 

Directions (6-10): Study the information carefully and answer the questions given below. 

 

Eight persons A, B, C, D, E, F, G and H are sitting in a circular table and all of them facing towards center. 

They all like different fruits i.e. Grapes, papaya, Orange, Mango, Apple, Litchi, Guava and Peach but not 

necessary in same order.  

A likes peach and sits second to the right of C. Two persons sit between C and E, who likes Litchi. B who 

likes Grapes sit opposite to H. B is not immediate neighbor of the one who likes peach. The one who likes 

Mango sits opposite to the one who likes Papaya. F sits second to the right of the one who likes papaya. D 

is immediate neighbor of the one who likes Orange. H does not like Guava. G is not immediate neighbor of 

A. 

 

Q6. Which of the following fruit D likes? 

(a) Apple 

(b) Guava 

(c) Orange 

(d) Papaya 

(e) None of these 

 

Q7. Who among the following sits immediate left of F? 

(a) D 

(b) C 

(c) G 

(d) B 

(e) None of these 

 

Q8. Four of the following five are alike in certain way based from a group, find the one that does not 

belong to that group? 

(a) C 

(b) G 

(c) F 

(d) A 

(e) D 
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Q9. Which of the following combination is true? 

(a) B- Apple 

(b) H-Apple 

(c) D-Orange 

(d) A-Litchi 

(e) C-Papaya 

 

Q10. Which among the following fruit G likes? 

(a) Grapes 

(b) Orange 

(c) Papaya 

(d) Mango 

(e) None of these 

 

Direction (11-15): Read the following information carefully and answer the questions: 

 

Ten persons are sitting in two rows, such that in row-2 M, N, O, P, Q are sitting and facing in north direction 

and in row-1 D, E, F, G, H are sitting and facing in south direction. Each person of row-1 facing each person 

of row-2. All of them are of different ages 15, 20, 23, 30, 33, 35, 38, 45 ,49, 50 but not in the same order. 

There are two people sitting between M and Q and either M or Q is sitting at one of the extreme ends. G is 

20 years old and sits third to the left of H. Neither H nor F sits opposite to M and Q, who is not the oldest. 

No two persons are sitting together according to alphabetical order, except G and F. The age of P is a 

multiple of 11. G sits opposite to N whose age is a multiple of 7. Two persons sits between the one who is 

the youngest and the one who sits opposite to the one whose age is 35. Three persons sit between the one 

whose age is 49 and the one who is the youngest. O’s age is twice the age of H. The age of the person who 

is facing the person who is sitting 2nd to the left of Q is a prime number. The age of M is equal to the sum of 

ages of H and O. Only one person is sitting between H and F. 

 

Q11. What is the age of F? 

(a) 23 years 

(b) 30 years 

(c) 45years 

(d) 15 years 

(e) None of these 

 

Q12. Who among the following is the oldest? 

(a) H 

(b) O 

(c) E 

(d) D 

(e) None of these 
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Q13. Who among the following sits to the immediate left of E? 

(a) P 

(b) O 

(c) no one 

(d) H 

(e) None of these 

 

Q14. Which of the following combination is true regarding the given arrangement? 

(a) E- 50 

(b) M- 45 

(c) F- 33 

(d) D- 49 

(e) none of these 

 

Q15. Who among the following is 33-year-old? 

(a) H 

(b) G 

(c) P 

(d) E 

(e) None of these 

 

Direction (16-20): Study the following information carefully and answer the questions given below- 

 

Eight persons P, Q, R, S, T, U, V and W are sitting around a square table in such a way that four of them sit 

at four corners, who are facing towards center, and rest four who sits at the middle of the side, are facing 

outside. They like three different colour- White, Blue and Yellow. At least two persons like same colour but 

not more than three persons.  

R sits second to the right of the one who likes Blue colour. Only two persons sits between R and V who likes 

blue colour. Q likes either white or yellow colour and sits third to the left of the one who sits second to the 

left of W. R sits second to the left of the one who like white colour. T and W faces each other and both of 

them likes same colour. U sits second to the right of the one who likes white colour and immediate right of 

the one who likes blue colour. T likes either white or yellow. P likes yellow colour and is not an immediate 

neighbour of R. U likes blue colour.  

 

Q16. Who sits exactly between P and the one who sits immediate left of T? 

(a) P 

(b) V 

(c) S 

(d) W 

(e) R 

 



5 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com 

 

Q17. How many persons sit between R and W when counted from 

the right of W? 

(a) None 

(b) Three 

(c) Two 

(d) One 

(e) More than three 

 

Q18. Who among the following sits third to the right of P? 

(a) R 

(b) T 

(c) S 

(d) U 

(e) Q 

 

Q19. Four of the following are alike in a certain way so form a group, which among the following 

does not belong to that group? 

(a) S 

(b) Q  

(c) T 

(d) R 

(e) P 

 

Q20. Who among the following sits 3rd left of T? 

(a) R 

(b) T 

(c) P 

(d) U 

(e) S 
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